L <EFEI>
=X SHANZHE) | S(/min) B = (Ol /o) Z0E
P-1 08:35~11:15
15.3 0.0015
(2XAAE1) (160=)
pP-2 08:38~11:18
15.5 0.0016
S A AHE2) (160)
P-3 08:41~11:21 . 0.0013
(2 XIEHA3) (160=) ‘ '
P-4 08:45~11:25 5.0 0.0014
(2XIZA ) (160=) ' '
P-5 08:52~10:12 =y badan?
(HEXZENXIS) (80=) ' '
P-6 08:55~10:15 s ot
(HZEREAHXIH2) (802) ' '
P-7 09:02~10:22 . —
(RO A= Al Q) (80=) ' ‘
P-8 09:10~09:40 = -
(P A H Q) R) (302) ‘ )
P-9 09:16~09:46 155 0.0011
(HD|28E ) (308) ' '
P-10 09:50~10:20 57 0.0010
(M2 X&) (302) ‘ '
P11 09:51~10:21 e aGoliE
(H122 X E2) (308) ' ‘




6-1. <EIJZ >

SHAX EFANZHE) | FFW/min) | EEsZ(O4/or) ZUHEL
P-1 07:32~08:02
15.2 0.0005 oler
(HOIEEtET1) (30&)
pP-2 07:33~08:03
15.6 EdE orgr
(HOISEHET2) (30&)




6-1. <E3E >

SF9X EFZANHE) | S (/min) | S-S (OH/cr) U
P-1 11:03~11:33
15.7 228 olgk
(HOIE23XE1) (302)
P-2 11:04~11:34
) EHE olet
(HoI22&XI82) (30=2)




6-1. <§3E1>

FJAAX EF-AHE) | SEW/min) | HSZsZ(N/cr) ZWO
P-1 10:56~11:26
15.3 Ed8 olet
(HOIS=22XI &) (302)
p-2 10:568~11:28
15.8 EdE ojet
(HoIS=22X H2) (308)




